EARAROBEEIERT — 2 N— IBISH —F

2012848158 (H) 1@4EML2H

mﬂﬁ%—ﬂﬁ c2= EEE R
[AE£] 1% :120,000  ~ 2#&:24,000 ™  33%&:12,000 M  4%&:6,000H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
APRRE SRR 2 =P H o4 ?gﬂOIE“S 1:(2_3).8 3-3-3-2 [39.6 — | 4 | 469 gﬁfﬁéé (@)
Q:AY— K BaAFFF4H b 00| e
N o [iE] FB # :23. -1-1- . — SHlFE (f&L)
N > PR R (7 o e V|5 e
R:xAIZG7—X BTFEENVE— LIRS
N Tt FR A 124 -7-7- . - MARGER (1R
sl7l 7| B—LFsaT #o4 | M 7R I 2|y |emER
L:¥r/0704 B:h-Fra3-02 FEEANS
. = pi2UNERS : —2-0- - HHRE (FEWL)
4 3| EUT AT it 4 L (11.215/.21) 1-2-2-3 | 41.1 5 :je) R
LY ISNIFH— B:vIVEL—IL J =B RT A
. N BEA=ER :25. —4-4- . - EWEE (B
s 4 | XA RRAY o4 B AN Sae 406 ’ (4819) BHER
LT RIAYKR BXFTET ZR77—L4
-2 Wt :25. —6-5- . — ZHEA ($@W)
6lglg| 7>y /%2 LI iy 1(245)9 6-6-5-5 | 41.3 7 (4+33 2nen e
X T =MLV T—h BTNy EUFZX EEMS
N Ilf=:EEs e :26. -9-9- 6] — SHLEE (R
71515 ZT)=T45 o7 54.0 ! (216)] 10-9-9-8 | 40.6 10 :?3) (E)ﬁrkf;’r?
RiF 4L N—h b — BiXa—bTHEL mfl B
7 | A - 77 - ZEAEH (18
8l7|g|77TVTRTIN— % 5 | EREH 1.(236).8 7-7-7-9 | 41.6 6 | 438 E;ﬁﬁi}g (&)
L:KT4 T X B:2—a4XTI— (#5) ME KxiE
. ESNIFEIN :26. -5-5- . — EAHEA (ELL)
9 6| PE/ XA i 54.0 1(32/64>9 AR R ? <4+360) T )
R:vTyIRAINE B A XIIHhA = %
B i 4 | EREX 1:30.3 9-10-10-10 | 44.9 | — 7 437 | SHBE (@BIL)
10/ 8 (10 77#'79 . 54.0 (21 4) (42) My =
RV TATYIL LR BN—TIZXF— 2EHS
® 1—F—@EBIERL
1S=3= (2,3),1,6,4,9,(7,8),10,5
230—74— |2,3,1,4,6,9,(7,8),5,10
Jol=5r= 2,3,1,4,(6,9),(7,8),5,10
43—+ — 2,1,3,4,9,6,7,5,8,10
[ N5
B OB 1 M1 | | B = 1-2 1,050 | | 3:&E4E 1-2-7 740
B B 1 130H4 B H 1-2 2,600 EH 1-2-7 5,460
2 130H4
7 1009

ABICOVWTRDTEEERROODE. TR LIV,




